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 Autograph Activity
Investigating the ‘discriminant’ b2 – 4ac 
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 Open a new 2D Graph Page in Advanced Level (which gives more Zoom options)
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 Edit Axes x: -12 to 12, y: -8 to 8
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 Select Equal Aspect
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 Enter Equation y = ax²+ bx + c
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 Add a dynamic text box as shown
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 Enter Coordinates (b² - 4ac , 0)
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 Select this point and use the Object Menu to ‘add circle’ (radius 0.4)
	[image: image9.png]-10 -5

-Equation 1: y=ax>+bx+c
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 Select only the point
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 Choose Text Box and tick ‘Show Detailed Object Text’ as shown
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 Use the Constant Controller to

change the values of: first ‘c’, then ‘a’ and then finally ‘b’. See below!

Note - You may need to use the Zoom options!
	[image: image13.png]Edit Text Box

Text

[e-sac, 0
la=1

b=1

lo=13

Remove Object Text Convert to Static Text.

how Detaled Object Text

Algrment.

[oIt'3 Ocentre

Anchoring

anchor to Point Maxinum Distance: |20 |mm

style

Presets: | elect Preset Sty v

Cemron ] [edtroms | [sotosoeio

[ron)






	

	
[image: image14.wmf] Take careful note of the values of b² - 4ac and the corresponding position of the graph of y = ax²+ bx + c for various values of a, b and c.
Hint – look out for how many times the graph hits the x-axis and compare this to when b² - 4ac is either < 0 , = 0 or > 0.

Make  a conjecture about how you can tell the number of  ‘roots’ there are to ax²+ bx + c = 0 by calculating the value of b² - 4ac.
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- y=ax*+bx+c






	

	
[image: image16.wmf] Write, in your own words, what you have discovered (include some sketches!)
. . . please continue over page and ensure you get your teacher to check this!
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